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1.You are configuring internal order settlement.

What do you define which cost element should be settled, using either the original settlement cost
elements?

A. Credit component (of the costing sheet)

B. Allocation structure

C. Settlement profile

D. Settlement rule

Answer: B

2.You have implemented Product Cost by Sales Oder in conjunction with revenue-based results analysis
in your organization.

For a particular sales order item, you have the following:

Plan revenue = 3000; Plan costs = 2000

Actual revenue = 1200; Actual costs = 1000

What data does the system calculate during results analysis?
A. Revenue = 1200; Cost of sales = 800; Reserve = 200

B. Revenue = 1200; Cost of sales = 1000; Reserve = 200

C. Revenue = 1200; Cost of sales = 1000; WIP = 200

D. Revenue = 1200; Cost of sales = 800; WIP = 200
Answer: D

3.Which statements best describes a single cost center standard hierarchy?

A. ltis a structure to which all cost center groups create for a controlling area are assigned.

B. It is a structure to which all cost center groups created within an operating concern are assigned.
C. ltis a structure to which all the cost centers within an operating concern are assigned.

D. Itis a structure to which all the cost centers within a controlling area are assigned.

Answer: D

4.In the material master record there are three planned prices: ""Planned price 1", ""Planned price
2""'and""Planned price 3"".

What do you use them for?

A. To valuate goods movement

B. To valuate the materials in cost estimates

C. To valuate material stocks

D. To update the standard price during the release of a standard cost estimate

Answer: B

5.Which type of Profitability Analysis updates the cost of goods sold at the time of delivery?
A. Periodic-accounting based

B. Both account-based and costing-based

C. Account-based only

D. Costing-based only

Answer: C
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